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Marker commentary

M5

Drawing a sketch to illustrate the response to 1(b)(ii)
demonstrates in-depth understanding of the difference
between distance and displacement. Calculations in 1(a),
1(b)(i) and 1(c) are done efficiently, again showing Merit level
understanding. However, knowing neither the meaning of the
term impulse nor which physical quantity is conserved in a
collision show a lack of comprehensive understanding.

M6

A common calculation error is made in 2(a) - omitting to
square a term - but a clearly drawn diagram is presented for
2(b). The explanation written for 2(c)(ii), while containing
many correct facts, does not answer the question. The
response to 2(d) demonstrates comprehensive understanding
as it is well adapted to a somewhat unfamiliar context.

M5

In-depth understanding at the Merit level is illustrated in the
numerical parts of this response, with the errors in 3(b) and
3(d) being minor. The explanation in 3(c)(ii) demonstrates
comprehensive understanding of forces, acceleration and
velocities in projectile motion, unfortunately marred by an
incorrect diagram.






